i
I
T
T
P=ai
I

1. ¥4
EHL [EE 4 2 5 SR s e
BT AT KL LT G R 1 4 2 Gherain) | [EE E BT w)

2. ¥HENRE

1) FHEI4

2) JEATHIM

LS RODIIESPER 220

257 HH

m

T B ER

H 4% 64 7THISH
S T4 3A31H

3) WErEMA

4) EHBNE

EtrEE T R



T NER &=

Tl
P

kWL | EE 4 2 SilE R SRR ER ER i WEES
H H TE RSB R ER
B E I % i 3 B {7 ¥ & & #A A BN R
B IR W) R ER X 1 87, 469, 900
FRAI CASh ORGSR E Sk (P R SRR =X 1 82, 366, 670
)
T AR = 1 14, 603, 330 | FAY
51 L
PR ()
14 #
LR
12 #
HFES
234 #
HAES (M)
39 #
40 #
WAL (D)
17 #
e
10 #
A (M)
17 #
A et e 21
1 #
Z Ol
42 pae
Z O ()
5 P2
TH & FE A A 5 = 1 50, 699, 900 | Y&
5 pae
AL
116 JL

-1- EtrEE T R



=
=

i
m
2
%

kWL | EE 4 2 SilE R SRR ER ¥ Hi WEES
H H TE RSB R ER
THH - TfE - fiR) B & 4 B OB AR

B

26 i
B (R

14 L
R

62 i
EAA (M)

33 #
WA

19 #
T =R LAl

100 #
k> RV HREA

242 #
hyROVIRET (K [HD)

1,047 #

Dt

23 #
oM (FH)

21 =

JH B AF e oy 1 3,283,980 | FA

11 #
FAI (%)

7 #
LR

7 i
B

8 i
B (R

8 i
TR

5 It

-2 - EtrEE T R



Tl
P

=
=

kWL | EE 4 2 SilE R SRR ER ER i WEES
H H TE RSB R ER
B E I % i 3 B {7 # & FH A BN R
WA (D)
25 P2
TH B AR IS = 576,920 | HARR
5 pae
A (M)
3 pae
4 #
WAL (D)
2 =
B REE W 13,202, 540 | AMEEfE (ko /L IREALISN)
986 =
&R OERBL SR = 5,103, 230
*ﬁ%@éﬁ’?\%ﬁﬁ*ﬁ ft 5’ 103, 230 %1_@" . @ﬂtﬁ’i
1 e
BRI R AR
8 &
T — K HK
1 =
R
1 =
BisST] = 330, 450
B3l = 330, 450
FTEwe = 330, 450 | fT&H
1 =
FEE AT 30 D B A% 2V 173, 200
TEEFRA TR 207 5 [E 82 A2 =X 173, 200
-3 - [E 238 T s i




i
m
2
I[>DL

=
=

kWL | EE 4 2 SilE R SRR ER ER i WEES
H H TEAESRATREENC 230 D B A
B E I % i 3 B {7 ¥ & & A AW BN RR
FEE AT 30 D LB A =X 1 173,200 | fEERITHEERDIC 2300 5 B4 A2
1 =
B = 1 2, 454, 022
[EREE 3 = 1 2, 454, 022
Vi @ik = 1 2,284, 022 | RE @
1 =
ik (R L - mEa)
1 =
HY - 15906k GllE)
1 =
%%E}Z%lﬁlﬁzﬁk% it: 1 170, 000 %%Eﬁ%%f’?ﬁk%
1 =
(X3 he 2V 1 90, 427, 572
EiEEF g 2V 1 47, 292, 428
Et3e = 1 47,292, 428
W RS M 2V 1 137, 720, 000

-4 - EtrEE T R



